INTERMEDIATE EXAMINATION — 2024 (ANNUAL)

Model Set

Time :- 3 Hours 15 minutes qared 93 Full Marks - 100
9« 3 Hc 15 fAFe quTies — 100

Political Science (Elective)

Sub. Code - 322 oI fasm (QRes)

Total No. of questions — 100 + 30 + 8 =138
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Instructions for the candidates :-

1.

wRiendi OMR ITR—UF® WR AU U YRABI HI HHAIB (10 ADBI BI)
araey ford |

Candidates must enter his/her Question Booklet Serial No. (10
Digits) in the OMR Answer Sheet.

oRleTTef ALY 37U TRl H B IR G |

Candidates are required to give answers in their own words as far

as practicable.

S IR BRR R Y 8 ofd gunie ffdse &_d 2 |

Figures in the right hand margin indicate full marks.

gel ®I LIFYdD U & ford wWieniial &1 15 e &1 afaRed a&a
o= T B |

15 minutes of extra time has been allotted for the candidates to
read the question paper carefully.
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This question booklet is divided into two sections : Section-A and
Section-B.

Gus—3 H 100 IS U ©, FH A Bl 50 UeAl &1 IR <Al
AFErd 21 50 Ul ¥ AP P IR I W UAH 50 BT & HATDHA
BT U & o 1 3 feiRa €1 a1 SR < & forg Sueter

PR MU SR T36 H QU MU F81 fddwed &l Al / $iel dfcd U9 |

TE N | sl Wl PR & gReR / oRd Ui / @€ / gd e

B OMR SR U3 H YIRT HRAT AT B, 3T TNiel vy 31|
BT |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. If more than 50 questions
are answered, then only the first 50 will be evaluated. Each
question carries 1 mark. For answering these darken the circle
with blue / black ball pen against the correct option on the OMR
Answer Sheet provided to you. Do not use Whitener / liquid / blade
/ nail etc on OMR Answer Sheet, otherwise the result will be

invalid.

Yue—q H 30 g STRIY U & | ISP B fog 2 of feiRa g, foreH

3 fhel 15 AT BT SR o1 A B | g9 IfaRdd o0 @Wvs § 8
&e I g AU U 2| ud U @ oy 5 o FEiRa € fH A

=2l 4 ygal &1 SR <7 Ifard 2 |



In Section-B, there are 30 short answer type questions. Each
carries 2 marks, out of which any 15 questions are to be
answered. Apart from this there are 8 Long answer type questions
in this section. Each question carries 5 marks, out of which any 4

questions are to be answered.

8. Pl TR & Selaei=d ISR & JIANT Yoiadr afoid ¢ |

Use of any type of electronic appliance is strictly prohibited.

Yug—3f / Section-A

gxdf~Iss 931/ Objective Type Questions

3 &I 1 ¥ 100 P & UAd U & fov aR fawew fag 71y €, R 9 @18
THh FE B U §RT g Y A& fded 1 OMR-SR gRasr R fafed o |
100 Y% § A fdh=l 50 Ul & B IR A o | (50x1=50)

Question No.- 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR Sheet. Out of 100

questions any 50 questions are to be answered. (50x1=50)

1. & B AT $Bl faierd & ?
(A) STITHIETG (B) ®rorg,
(C) 71 faeeft (D) prerar
Where is the headquarter of SAARC situated ?
(A) Islamabad (B) Kathmandu

(C) New Delhi (D) Colambo



YRI—UTHEI BT g hd gl ?
(A) 1977 (B) 1972
(C) 1962 (D) 1971

In which year did Indo-Pak war take place ?

(A) 1977 (B) 1972

(C) 1962 (D) 1971

YT MY &b JIAT FSTHId DI B 2

(A) 99 BT 7 (B) STrot ArdRIT
(C) Teifr Tevw (D) #far |RH
Who is the present Secretary General of UNO ?

(A) Banki-Moon (B) Jorge Sampaio
(C) Antonio Gutteres (D) Mario Soares

AYaT A @ [ T Bl 1994 H FMafad s faar w2

(A) |frareg (B) #wETHHT

(C) e uRwg (D) ¥R SRt

Which organ of United Nations Organisation was supended in 1994 ?
(A) Secretariat (B) General Assembly

(C) Security Council (D) Trusteeship Council

AldE™ F9T & W] ofege b o ?

(A) §ER UCd (B) <o Iror= e

(C) STa1ER el -g® (D) Sio 9. 3IR. T



Who was the permanent chairman of the Constituent Assembly ?

(A) Sardar Patel (B) Dr. Rajendra Prasad
(C) Jawahar Lal Nehru (D) Dr. B. R. Ambedkar
fepsr RTTiIfces Tc1 = GfAem |91 &1 d3dl BT PR fdhar ?
(A) R oI (B) BRIfRE Tof

(C) fe=g, weTReT (D) wefra I B

Which political party boycotted the meeting of Constituent Assembly ?
(A) Muslim League (B) Communist Party

(C) Hindu Mahasabha (D) Indian National Congress

s HOeE & gRT WRA Giaae &1 TRATa=1 | 9ef foRUer 3req SireT 1a1?
(A) 85 df (B) 44 df

(C) 42 dt (D) 15 dt

By which amendment, the word Secular was added in the Preamble to
the Indian Constitution ?

(A) 85" (B) 44"

(C) 42™ (D) 15"

e T exe | fduE w91 o7 fhaar a9 o ?

(A) 2 9 (B) 4 a9
(C) 3 @y (D)2 a¥ 11 #1E 18 &
How much time the Constituent Assembly took to frame the

Constitution ?



10.

11.

12.

(A) 2 years (B) 4 years
(C) 3 years (D) 2 years 11 months and 18 days
fhae Pl “IRA AL @l o W@l g ?

(A) Tl0 ISR I+ (B) . ¥l f=

(C) o 4. IR, r=Igax (D) HETHT e

Who said, “Indian Constitution is lawyer’'s paradise ?

(A) Prof. lver Jenning (B) K. C. Wheare

(C) B. R. Ambedkar (D) Mahatma Gandhi
R e &e TN gair ?

(A) 14 3T 1947 (B) 26 SI=aRT 1950

(C) 2 BRa’T 1952 (D) 1 STTasI 1948

In which year the Constitution of India was implemented ?
(A) 14" August 1947 (B) 26™ January 1950
(C) 2™ February 1952 (D) 15" January 1948
A H IR | du # fean st § °

(A) 14 (B) 6
(C) 12 (D) 10
At present, how many schedules are there in the Indian Constitution ?
(A) 14 (B) 6
(C) 12 (D) 10

PIF T YRR UGB b fodl Y el Heal & 2



13.

14.

15.

(A) g9 BT B R (B) Wa=dl &7 AfTHR
(C) | T SAfTHR (D) |¥@icr 3R e

Which of the following rights protects the interests of minority ?

(A) Right to Religion (B) Right to Liberty

(C) Right to Equality (D) Cultural and Educational Rights
A & 69 Jzoe §RT 3RYLIT BT Il fbar 11 & ?

(A) T8 14 (B) sz 12

(C) rged 17 (D) 37w 18

Which article of the Constitution deals with the abolition of
untouchability ?

(A) Article 14 (B) Article 12

(C) Article 17 (D) Article 18

Gfdae @ fow deled gRT 99Rl & IfffeR @ Hifos AffeR | ger

7 ?
(A) 44 df (B) 45 df
(C) 46 dI (D) 47 @t

By which amendement to the constitution, right to property was
removed from the list of fundamental rights ?

(A) 44" (B) 45"

(C) 46" (D) 47"

Hifeld TSRl BT AT B & folg Re DI AR ST ?




16.

17.

18.

(A) Fatea T (B) W%

(C) frafa= smarT (D) Rz ufey

Who will issue writ to inforce fundamental rights ?

(A) Supreme Court (B) Parliament

(C) Election Commission (D) President

R Fares smanT # fba- deaw & 7

(A) 2 (B) 3

(C)4 (D) 5

How many members are there in the Election Commission ?
(A) 2 (B)3

(C)4 (D) 5

fa=foRad & 9 fow e & YRGI Afdem &1 dRefd Ir g8l =7 STl
g7

(A) RTsafa (B) dfed =TTy
(C) fated sman (D) s ¥ H1E T

Which of the following bodies is regarded as the protector of the Indian
Constitution ?
(A) President (B) Supreme Court

(C) Election Commission (D) None of these

fhd e8] D dod AT H YT AT SRIT SIT Febell & 2

(A) 352 (B) 356



19.

20.

21.

(C) 360 (D) 380

Under which article, the President rule can be imposed in a state ?

(A) 352 (B) 356
(C) 360 (D) 380

71 gRYg WFfed w9 A fows ufd STRer g.r 2 ?

(A) Srezfer (B) Watea =maTer

(C) ArmaHT (D) TSI

To whom the council of minister is collectively responsible ?
(A) President (B) Supreme Court

(C) Loksabha (D) Rajya Sabha

AT 3MANT BT JoiF 9RATT Afaa & by orfzes H 7 ?

(A) 312 (B) 324

(C) 325 (D) 368

Which article of the Indian Constitution deals with
Commission?

(A) 312 (B) 324

(C) 325 (D) 368

e T & faermrea § faus uRvg =& € ?

(A) fder (B) SR <9

(C) ®Hic®d (D) oI

Which state legistature does not have legislative council ?

Election



22.

23.

24.

25.

(A) Bihar (B) Uttar Pradesh

(C) Karnataka (D) Rajasthan

GG B GYHKT 6% DI FEIEAT DI HIAT © 7

(A) SIRTZUfT (B) ger=E=T

(C) Irgufa (D) ATHHHT BT 3N
Who presides over the joint setting of Parliament ?

(A) Vice President (B) Prime Minister

(C) President (D) Speaker of Lok Sabha

ST & FERA BT BrIdTel 9T Il © 2

(A)5 ¥ (B) 6 ¥

(C)7 =¥ (D) 8 @

What is the tenure of a member of Rajya Sabha ?
(A) 5 years (B) 6 years

(C) 7 years (D) 8 years

Alpa H Heead el | fdhd- 95w & dad § ?

(A) 20 (B) 22

(C) 45 (D) 18

How many members can be in Lok Sabha from Union Territories ?
(A) 20 (B) 22

(C) 45 (D) 18

Sed IRIT & IREel &1 Jargha amyg fea- § ?
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26.

27.

28.

(A) 60 ¥ (B) 62

(C) 64 ¥ (D) 65 a9

What is the retirement age for the judge of High Court ?
(A) 60 years (B) 62 years

(C) 64 years (D) 65 years

IRA H e ATl &1 AT fhadl g ?
(A) 25 (B) 24
(C) 22 (D) 26
How many High Courts are there in India ?
(A) 25 (B) 24

(C) 22 (D) 26

AE™ &1 58 JggEl H b= IR TSy & &9 wldd B faurer far
g7

(A) 4™ (B) 7"

(C) 9™ (D) 10"

Which schedule of the constitution deals with the division of powers
between centre and states ?

(A) 4" (B) 7"

(C) 9™ (D) 10"

AT RSl fea ®e /4R SIIar © 2

(A) 26 ST (B) 15 3FTET

11



29.

30.

31.

(C) 24 3ia (D) 14 SR
Panchayati Raj day is celebrated on which date ?

(A) 26™ January (B) 15™ August
(B) 24™ April (D) 14™ November
73dl Ud 74l AAUT G $Ha AN gIAT ?

(A) 1985 (B) 2001

(C) 2003 (D) 1993

When did the 73™ and 74" Constitutional amendments come into

force?
(A) 1985 (B) 2001
(C) 2003 (D) 1993

YR Afderd & {6 rfzoe § GeNes ol Ufshdr & qui= & ?

(A) 1985 (B) 2001

(C) 2003 (D) 1993

Which article of the Indian Constitution prescribes the procedure of
amendment ?

(A) 1985 (B) 2001

(C) 2003 (D) 1993

Il & Y3 ATIRT b1 fegel bi o ?
(A) BT (B) <. . da

(C) =mRfd wotet 3Tl (D) uf~apx

12



32.

33.

34.

Who was the chairman of States Reorganisation Commission ?
(A) Kunzru (B) J. B. Pant

(C) Justice Fazal Al (D) Pannikar

YIS AR R Fa U8l [ 15T I a1 8 ?

(A) 7 ge= (B) SrevTTaet TR

(C) SR ue¥ (D) 3T ueeT

Which state was created on the linguistic basis first of all ?
(A) Madhya Pradesh (B) Arunachal Pradesh
(C) Uttar Pradesh (D) Andhra Pradesh
IR & UIH Y YIHAT DI o ?

(A) RER doot¥ WS Ucd (B) ARt =Ror {7

(C) ARRSH <A1 (D) T=ERER

Who was the first Deputy Prime Minister of India ?

(A) Sardar Vallabh bhai Patel (B) Chaudhary Charan Singh
(C) Morarji Desai (D) Chandra Shekher
oTelhe HAHSIICT be B3 oA ?

(A) 1966 (B) 1965

(C) 1967 (D) 1970

When was Tashkent Agreement signed ?

(A) 1966 (B) 1965

(C) 1967 (D) 1970

13



35.

36.

37.

38.

HRE & Jarged! § fHd ST SIrar o ?

(A) ARRSH <18 (B) TR

(C) BRI (D) ofTel 98TgR 2

Who was known as the leading Youngturk of the Congress ?
(A) Morarji Desai (B) Chandra Shekhar

(C) Kamraj (D) Lal Bahadur Shastri
WAA AR H A FATg ysell IR Hd Y ?

(A) 1947 (B) 1950

(C) 1952 (D) 1977

When was the first general election held in independent India ?

(A) 1947 (B) 1950

(C) 1952 (D) 1977

IR & UIH ST J41 diF o ?
(A) BUATH (B) . 3R 3rHITdHR
(C) Xrotw= TS (D) WRER Uy

Who was the first law minister of India ?

(A) Kriplani (B) B. R. Ambedker
(C) Rajendra Prasad (D) Sardar Patel
YRA H DI A A eIl aod H AloE & °

(A) Thgeflg (B) faela

(C) wggeir (D) 377 & PIg el

14



Which party system, at present prevaile In India ?
(A) One party (B) Bi-party
(C) Multi-Party (D) None of these
39. ST JAR™RT DI HIT BR B AT AN 7 ?
(A) faT s (B) fawra arram
(C) I T 3/ T (D) =ifer AT
Which Commission has been formed after the dissolution of Planning
Commission ?
(A) Finance Commission (B) Development Commission

(C) State Finance Commission (D) NITI Ayog
40. I fadmr aRvg & 3reuel i BT & P

(A) fas ==h (B) Irzufer
(C) werrTH= (D) g&=u =refier
Who is the chairman of National Development Council ?
(A) Finance Minister (B) President
(C) Prime Minister (D) Chief Justice
41. =1 9 4 (59 gg & URVMHERT b T Q9T BT S BTl 2
(A) IRI— g (B) WRd—UTh gg
(C) oRATeT g (D) 374 & ®Ig &l
Which of the following wars led to the birth of a new country ?

(A) Indo-China War (B) Indo-Pak War

15



42.

43.

44.

(C) Kargil War (D) None of these
GRSl AT fbet &1 Qe & I gwierRa gaim o ?

(A) IR 3R T (B) MR 3R urfane™
(C) ¥RT 3R w¥ (D) ¥R 3R 3R

Panchsheel Agreement was signed between which of the two

countries ?
(A) India and China (B) India and Pakistan
(C) India and Russia (D) India and USA

A 1972 ¥ 9RT 3R U™ & 49 by |Hsild R gwier g7 7

(A) AR [T (B) Rryar wwsitar

(C) feeet il (D) BRI FHSIAT

Which agreement was signed between India and Pakistan in 1972 ?
(A) Lahore Agreement (B) Shimla Agreement

(C) Delhi Agreement (D) Karachi Agreement
JfIearE UId UIRd & & BRI fhd Y1 o WTaA fear o ?

(A) Uf$d STarer Tl 8% (B) 1. 4I. g

(C) T==IeR (D) @Ry =R Rig

Which Prime Minister had to resign due to passing of No Confidence
Motion ?

(A) Pt. Jawahar Lal Nehru (B) V. P. Singh

(C) Chandra Shekhar (D) Choudhary Charan Singh

16



45.

46.

47.

48.

HRART TR BT B U=ell Afgell 31ege] o off ?

(A) gfamr et (B) wRIforef AT,

(C) Tt d¥ie (D) s & g &

Who was the first Women President of Indian National Congress ?
(A) Indira Gandhi (B) Sarojani Naidu

(C) Annie Besant (D) None of these

o O\

HIRA T XTI b gIRT AT SIIdI g7

(A) SH T (B) fafa® #sd

(C) xrogs (D) faerrerera

By whom the Indian President is elected ?

(A) Lok Sabha (B) Electoral College
(C) Rajya Sabha (D) Vidhan Sabha
e g9 AT Ul BT dw H AT AT gIAT 2

(A) 1977 (B) 1975

(C) 1980 (D) 1978

In which year did Janta Party come to power at centre ?
(A) 1977 (B) 1975

(C) 1980 (D) 1978

IR H AUl i~ & avon feas @ ?

(A) fa=rar wrd (B) ST UabTeT ARII0T

(C) a1 (D) ITSHRTIOT

17



49.

50.

51.

Who declared Total Revolution in India ?

(A) Vinoba Bhave (B) Jai Prakash Narayan

(C) Kriplani (D) Raj Narayan

1975 ¥ IMTUTABIA BT BIYUT R dlel ICYfd BT 18 R 8§ 7

(A) SR g (B) &I ot B

(C) BEHEI 3Tl 3TEHT (D) 378 | BIg T2

What is the name of the President who declared emergency in 1975 ?
(A) Zakir Hussain (B) Gayani Zail Singh

(C) Fakhruddin Ali Ahmad (D) None of these

dIelclvs Wl gRYg by I H 7 ?

(A) 3FH (B) ARTTITS

(C) JrmvIraret Uael (D) Herera

Bodoland Autonomous Council is in which state ?

(A) Assam (B) Nagaland

(C) Arunachal Pradesh (D) Meghalaya

JarR 9Rd & AT 9841 4 9 B A1 759 S T8 7 7

(A) U= ST (B) ATl

(C) i (D) #erera

Which state is not included in the ‘Seven Sisters’ of North East India ?
(A) West Bengal (B) Nagaland

(C) Mizoram (D) Meghalaya

18



52.

53.

54.

55.

ToF fUwS! I SMART & 3egel i of ?

(A) @1 1. Rig (B) PTehT AR Plcleldh

(C) 1. IR. rHTaR (D) 37 & PIg =l

Who was the chairman of the First Backward Class Commission ?
(A) V. P. Singh (B) Kaka Saheb Kaleekar

(C) B. R. Ambedkar (D) None of these

e TeTHE o1 AUsSd JMART &1 RIeRel & & far ?

(A) Sfe=T i (B) Xroitg ey
(C) 3rea f9grl arorut (D) &1 4. Rz

Which Prime Minister implemented the recommendations of Mandal

Commission ?
(A) Indira Gandhi (B) Rajiv Gandhi

(C) Atal Bihari Bajpayee (D) V. P. Singh

DI AT LT AN 2TeY R AT d el & 7

(A) 74 df (B) 75 dft

(C) 72 df (D) 73 df

Which constitutional Ammendment is related to Urban
Government ?

(A) 74" (B) 75"

(C) 72™ (D) 73"

e gl 77 1991 H YR B R <T@l DI AT BT AR AT ?

19
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56.

57.

58.

(A) Toire et (B) a1, . T[oiRTel

(C) WI. Y. RRy=T 19 (D) 1. 41, Rz

Which Prime Minister Started “Look East Policy” in 1991 ?
(A) Rajiv Gandhi (B) I. K. Gujral

(C) P. V. Narshimha Rao (D) V. P. Singh

A BT MABR e g ory faar 7am ?

(A) 2001 (B) 2006

(C) 2004 (D) 2005

In which year the Right to Information was implemented ?
(A) 2001 (B) 2006

(C) 2004 (D) 2005

gferd Yo e AR WIS $1 RITUAT 9RA & [ T o gg ?

(A) ST (B) STR Uew

(C) AERTSY (D) 5eg gew

In which state of India, the organisation of Dalit Panthers established ?

(A) Rajasthan (B) Uttar Pradesh

(C) Maharashtra (D) Madhya Pradesh

JoTddRTg HedT Ffafad 3 3o ufdded # food g v=amadl o Fave &l

RapTRer @ ?
(A) T =R (B) T—wra
(C) 3 =¥ (D) 37 & g &I

20



59.

60.

61.

The Balwant Rai Mehta Committee’s report has suggested the

Panchayati Raj Institution to be in how many tiers ?
(A) Single Tier (B) Two Tier

(C) Three Tier (D) None of these
U [C—"RUeT A & ALqe Bi o ?

(A) gaori (B) STa@TeR el Ag%
(C) ARiet et (D) sreget TR

Who was the president of first Non-Aligned Conference ?
(A) Sukarno (B) Jawahar Lal Nehru
(C) Marshal Tito (D) Abdul Nasir

YRA o Ul A%l URHIY] TR0 e fhar ?

(A) 1974 (B) 1960

(C) 1998 (D) 2023

When did India conduct its first successful Nuclear Test ?
(A) 1974 (B) 1960

(C) 1998 (D) 2023

HepHE- YT el Red g ?

(A) ST T (B) 57 H¥R
(C) r&vmaa Usel (D) 3r&H
Where is the Mac Mohan line situated ?

(A) Uttar Pradesh (B) Jammu Kashmir

21



(C) Arunachal Pradesh (D) Assam
62. iRy 3§ B9 &1 < AH HT G T8l © 7
(A) T (B) e
(C) wiurer (D) RIAR
Which of the following countries is not a member of SAARC ?
(A) India (B) Bhutan
(C) Nepal (D) Maynmar
63. WD DI UUH TR b <ol H g3 o1 ?
(A) TTfhe (B) qivetTQe
(C) ard (D) =uret
In which country the first conference of SAARC was held ?
(A) Pakistan (B) Bangladesh

(C) India (D) Nepal

64. STRTSER STITANT HT TSI Bl & 7
(A) R (B) =g
(C) afets (D) =
Where is the headquarter of International Court of Justice ?
(A) Geneva (B) Newyork
(C) Berlin (D) Hague
65. MR HAU &7 B9 AT IS Alfeld bl 4 dafdd g 2

(A)50 T (B)s1 ¥

22



66.

67.

68.

(C)52 1T (D)s3 U

Which article of the Indian constitution deals with the fundamental

duties ?
(A) 50 A (B) 51 A
(C) 52 A (D) 53 A

IR e # gt fha Hiferd wde € 2

(A) 10 (B) 11

(C) 12 (D) 13

How many Fundamental Duties are there in the Indian Constitution ?
(A) 10 (B) 11

(C) 12 (D) 13

RO Qg & fbd v 9 Aifc—rdere a &1 Seeld & ?

(A) T (B) v

(C) =1 (D) df=ry

Which part of the Indian Constitution mentions Directive Principles of
state policy ?

(A) Second (B) Third

(C) Fourth (D) Fifth

19 d e H ARSI B Gl fbal @Wazag afvid g ?

(A)5 (B) 6

)7 (D) 8

23



69.

70.

71.

How many freedoms are mentioned in the 19" Article of the
constitution ?
(A)5 (B) 6

C)7 (D) 8

5T | RIHAT @ Fgfad 9 dRar § ?

(A) TR (B) Ir~adTel

(C) wrgufa (D) Sz RIS & J& AT

Who appoints the Chief Minister in a state ?

(A) Prime Minister (B) Governor

(C) President (D) Chief Justice of High Court
ISl ST & fhde AR B AT HRAT & 2

(A)5 (B)7

(C) 11 (D) 12

How many members are nominated to the Rajya Sabha by the

President ?
(A)5 (B) 7
(C) 11 (D) 12

ST &1 IREHR BT aR<AAd T DI BT 8 2

(A) XrgaTel (B) g

(C) S=a —aramereT (D) 379 & PIg ARl
Who is the real Head of the government in a state ?
(A) Governor (B) Chief Minister

24



72.

73.

74.

(C) Chief Justice (D) None of these
fer feu aRyg # fhan Il & T=uTel #A9IT &R Adhal § 7

(A) = (B)

(e N I

(C)— (D)~

How many members of Bihar Vidhan Parishad can be nominated by
the Governor ?

OF (B)

(C) = (D)<

IRA H Al TGIUs YRl SRR Dl &HIG Yo B Bl Aldd by ure
2?

(A) ey (B) SuRTSTHf

(C) ger=rH=i1 (D) wal=a =raTerd & R =rgeTe

Who has the power to pardon the death sentence of a prisoner in

India?
(A) President (B) Vice President
(C) Prime Minister (D) Chief Justice of Supreme Court

I BT GG 81 & [y IRNGIR &1 =LA MY fbe=1 § 2
(A) 21 (B) 25

(C) 30 (D) 35

25



75.

76.

77.

What is the minimum age required by a candidate to become member
of Rajya Sabha ?
(A) 21 (B) 25

(C) 30 (D) 35

ATHAIT BT fIee HIF HRar 8 7

INECIREE] (B) Srgufa
(C) S=aaq =T &1 & <[Een(D) $579 9 dig el

Who dissolves the Lok Sabha ?

(A) Prime Minister (B) President

(C) Chief Justice of Supreme Court(D) None of these

R Afder & b rgeoe § Igufd gy SRl &R Hhdl & 7

(A) 3BT 122 (B) 3rg=sq 123

(C) 3resse 124 (D) 3 gesg 125

Under which article of the Indian Constitution, the President can issue
Ordinances ?

(A) Article 122 (B) Article 123

(C) Article 124 (D) Article 125

AMHIIT & T fhaw auf & forv fHaifta s € ?
(A) 4 (B) 5
(C)e (D)7

For how many years the members of Lok Sabha are elected ?
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78.

79.

80.

(A) 4 (B) 5
(C)e (D)7
AT D YA Ifeye] hIF oF ?

(A) STIYBT AR (B) St 4l A1qeidhR
(C) aferm +ra (D) Rraxret wrfee
Who was the first Speaker of Lok Sabha ?

(A) Jai Prakash Narayan (B) G. V. Mavalankar

(C) Baliram Bhagat (D) Shivraj Patil

IRA & A AR™RT DI A AT 5 @1 T 7 2

(A) e 3 (B) v <l

(C) wardl T (D) s & @I -7l

The Election Commission of India has been put in which list ?
(A) Union List (B) State List

(C) Concurrent List (D) None of these

YRR A9 & RATaT # fhas JeR &1 =g &7 9ol g ?

(A) 2 (B) 3

(C)4 (D)5

How many types of Justice are mentioned in Preamble to the Indian
Constitution ?

(A) 2 (B) 3

(C)4 (D) 5
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81.

82.

83.

84.

AR & LA TR ARTHART o T SR fhd g ?

(A) Falea It (B) TG IARART
(C) wa= (D) fey s
Who has the power to impeach the President of India ?

(A) Supreme Court (B) Election Commission

(C) Parliament (D) NITI Ayog

AT IICHE B IATYAT He gg off ?

(A) 1940 (B) 1945

(C) 1960 (D) 1962

When was the United Nation Organisation established ?
(A) 1940 (B) 1945

(C) 1960 (D) 1962

Hgad gAY @ fdat ST € 2
(A)5 (B) 6

)7 (D) 8

How many organs are there in the United Nations Organisation ?

(A)5 (B) 6

(C)7 (D) 8

frfofrg & | @9 gRem 9Rvg &1 el e 7E 7 7
(A) i (B) A=

(C) Srh (D) fae
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85.

86.

87.

Which of the following is not a permanent member of Security Council?
(A) France (B) China

(C) Germany (D) Britain

GReTl URYE & IRATAT TR Bl G foberil & ?

(A)8 (B) 10
(C) 12 (D) 14
What is the number of non permanent members in Security Council ?
(A)8 (B) 10

(C) 12 (D) 14

GG ISCHE BT AT Hal o 2

(A) aRE (B) =g

(C) ofed (D) 3™
Where is the head quarter of UNO ?

(A) Paris (B) New York

(C) London (D) Rome

faeq wRey ST B J&ATAT Hel © °

(A) =g (B) fomrar

(C) afes (D) IR

Where is the headquarter of World Health Organisation ?
(A) New York (B) Geneva

(C) Berlin (D) Paris
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88.

89.

90.

91.

e fFIRUEN NI BT Ugell AT He gl 2
(A) 1958 (B) 1960
(C) 1961 (D) 1962
When was the first NAM summit held ?

(A) 1958 (B) 1960

(C) 1961 (D) 1962

e TR ¥ YeFRU ARG BT ISl RIS I gl ?
(A) Ferirs (B) = faeetr

(C) Provig (D) gTeRT

In which city the first summit of NAM held ?

(A) Belgrade (B) New Delhi

(C) Kathmandu (D) Dhaka

[EfRUET JARIAT BT I~1Adl AT 2024 § fbd <2 H B S <& &7
(A) grreme (B) ¥

(C) wxd (D) Zmst

In which country the 19" summit of NAM is going to be held in 2024 ?
(A) Bangladesh (B) Iran

(C) India (D) Uganda

AT (S&9) P o Fa < & ?

(A) 5 (B) 6

C)7 (D)8
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92.

93.

94.

How many member countries are there in SAARC ?
(A) 5 (B) 6

(C)7 (D) 8

oM (GeT) &7 3AfH A8 HIF 8 7

(A) T (B) =uret

(C) g™ (D) BT
Who is the last member of SAARC ?

(A) Pakistan (B) Nepal

(C) Bhutan (D) Afganistan
A (&) T 7o fhd 99 gg off ?

(A) 1980 (B) 1985

(C) 1986 (D) 1988

In which year SAARC was established ?

(A) 1980 (B) 1985

(C) 1986 (D) 1988

fIgR faum a1 & fhae 9ea © ?

(A) 240 (B) 243

(C) 245 (D) 250

How many members are there in the Bihar Legislative Assembly ?

(A) 240 (B) 243

(C) 245 (D) 250
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95.

96.

97.

98.

AfdeT &1 42a] FeEe fHd 99 9Tq gar off ?

(A) 1975 (B) 1976

(C) 1977 (D) 1978

In which year was the 42™ constitutional amendment passed ?
(A) 1975 (B) 1976

(C) 1977 (D) 1978

YRR A & DI AT FeNe So—dad [aRIE B | Hafed § ?
(A) 50 df (B) 52 df

(C) 53 df (D) 55 df

Which amendment of the Indian Constitution is related to anti-defection

law ?
(A) 50 (B) 52"
(C) 53 (D) 55"

IR Afagr & b srqeee & dgd o<l AMTdeie S Sirar & 2
(A) 352 (B) 356
(C) 358 (D) 360

Under which article of the Indian constitution, financial emergency is

imposed ?
(A) 352 (B) 356
(C) 358 (D) 360

fFrfeiRad & 9 PI—4T 3rgess “Siad & AfPeR” d Fafod § 2
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99.

100.

(A) BT 14 (B) s =g 15

(C) g 18 (D) =< 21

Which of the following article is concerned with the “Right to Life” ?
(A) Article 14 (B) Article 15

(C) Article 18 (D) Article 21

1975 B T AMITARTA DI SN & FAT IR D YLTHH] HIF oF ?
RUSIERIE (B) 3rca ORI arot:y

(C) gfamr e (D) ARSI TS

Who was the Prime Minister of India during he proclamation of
emergency in 1975 ?

(A) Rajiv Gandhi (B) Atal Bihari Vajpayee

(C) Indira Gandhi (D) Morarji Desai

IRA H gl fha I5a 2 2

(A) 25 (B) 26
(C) 27 (D) 28
How many States are there in India ?
(A) 25 (B) 26

(C) 27 (D) 28
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Yvs—4q / Section-B

oY S8 9949 (Short Answer Type Questions)

U AT 1 W 30 oY SR Y 2| fBl 15 Ul & SR < | gAP U B forg

2 3 fuiRT € | srfdrdd 40—60 gl H SR < | (15x2=30)

Question no. 1 to 30 are short answer type. Answer any 15 questions. Each

question carries 2 marks. Answer in not more than 40-50 words. (15x2=30)

1. gRefl gRvg # fRwifder (drer) &1 @ sref 7 ? 2
What is the meaning by Veto Power in the Security Council ?

2. fav9 MUR 6T & T QLT B ? 2
What are the two objectives of World Trade Organisation ?

3.  FaqcIds & fdbol &l BRUT g | 2

State any two causes of Naxalism ?

4. AT URATT A MY RAT FHT & 2 2
What do you mean by No-Confidence Motion ?

5. ¢ PRUE 3ARla @l &l IUAfRRT aamy | 2
State any two achievements of Non Aligned Movement ?

6. P (S8N) b YT H QT dD < | 2
Give two arguments in favour of SAARC.

7. VRAE IoMIfa # & gl @ @1 qfier 7 ? 2
What is the role of regional parties in Indian politics ?
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10.

11.

12.

13.

14.

15.

16.

17.

YR Aider | fau T Wz & Aifeld feeR @ a1 faevan ford | 2
Write any two features of fundamental right to liberty as prescribed in
the Indian Constitution.

R AT AN &b T DI BT quie DN | 2
Describe any two functions of Elections Commission of India.

I |41 Bl &1 fafre erfddal ] | 2
State the two special powers of Rajya Sabha.

IRA H AFAEGR o Refd ©) e wferad fewoh fored | 2
Write a short note on the status of human rights in India.

RA & JeTTHAl & bl &l fddal o1 aoie o | 2
Describe any two powers of the Prime Minister of India ?

HYFd TS B T IR o | 2

Write two objectives of United Nations Organisation.

YRd & AeH # ASIRT FEarg $l FHSI | 2
Explain Co-operative Federation in the context of India ?

IRAR FHGR Il &1 &I favman «&m g ? 2
What are the two features of Indian parliamentary system ?

IRA H gardl 1o Awerail H AfRErsi B el U UBIRT SId | 2

Throw light on the role of women in Panchayati Raj Institutions in India.

ot 3R 07— & T 3R © 2 2

What is difference between Monarchy and Republic ?
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

YR SR A9 & 1962 & gg & fdbol &l YRV BT gl SIS |
Describe any two consequences of Indo-China War of 1962.
g3are a1 B ?

What is regionalism ?

ST JOITT BT IRATT Alba— H 397 A8 © ?

What is the importances of coalition politics in Indian democracy ?
YR Afderd &1 fb=gl a1 faeradmail &1 qui o |

Describe any two features of Indian Constitution.

TETIT IMGT & g1 I8 §ly |

State any two objectives of Panchayati Ra.

IRAT Afaee & 73d HNeT & A8 &1 & 7

What is the importance of 73" amendment of Indian Constitution ?
YR e eyl & &l SAeT0T qaly |

Describe any two characteristics of Indian federal system.

Adied <RI 6l AfAL= BT GReTh F 9T odl & °

Why is Supreme Court regarded as the protector of Constitution ?

ANHaT & o wfda w® e fewof forg |

Write a short note on the financial power of Lok Sabha.

TR Afde= § v v fH=l <1 Hiford wdd gdiv |

Decribe any two fundamental duties prescribed in the Indian

Constitution.
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28. WRAY AU & UG &I 3T A8 © ° 2
What is the importance of Preamble to the Indian Constitution ?

29.  YRAN Uy & diel Afdd R U fera fewof fore | 2
Wrtie a short note on the Veto Power of Indian President.

30. Hifa fdere Il @ g1 faeiyd 9 | 2

Describe any two features of the Directive Priciples of state policy.

" 9a9F 937 (Long Answer Type Questions)

T AT 31 ¥ 38 WY ST YT 2| bl 4 U & SR S | UAH & folU 5
3 ufRa €1 120—140 oIl H SR T | (4x5=20)

Question no. 31 to 38 are long Answer type questions. Answer any 4
questions. Each question carries 5 marks.. Answer in 120-140 words.

(4x5=20)

31, MRA & YEHAT @ I UG e @) AT Tcqd ARAT N | 5
Critically analyse the powers and functions of Indian Prime Minister.

32. RO AU # fau W Aifers e RI &1 9ol o | 5
Describe the fundamental rights mentioned in the Indian Constitution.

33. YN ® Fdizd ORI b ATS Ud NSRRI bl fad==T &Y | 5

Discuss the composition and jurisdiction of Supreme Court of India.

34,  YNI—UTfbd Fdel IR e og forgd | 5

Write a short note on India-Pakistan relations.
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35.

36.

37.

38.

FYFT g F B T R G e ford | 5
Write an essay on the role of United Nations Orgnisation.

HHBICA faea # qe—fRue ela o ardfidhdr &1 fadem & | 5
Discuss the relevance of Non Aligned Movement in the contemporary
world.

YR Ul & SMTdDTe AfFTAT TR U fa=er ford | 5
Write an essay on the emergency powers of Indian President.

YRR oI | ST & Yfier & faga=r o | 5

Discuss the role of Caste in Indian Politics.
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